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Mansoura University
Faculty of Science
Botany Department
El-Mansoura, Egypt

Final Examination in Botany

Summer Course - 2013

Programs :(Microbiology, Biochemistry,

Educational Year: First Level Zoology& Chemistry, Botany &Chemistry ,
Geology and Envinmental sciences) .

Subject: Botany Course(s): Systematic Botany

Time:2 hrs Date: 21/1/2012  Full mark: 60 Question mark: 20

Answer the following questions:

Q1 Fillin the Space:

1-Cyanobacteria belong to kingdom .......... , however, Aspergillus
is related to kingdom............ (2.0)
2- Diatoms belong to phylum ............ , however, Euglena is
related to phylum .......... (2.0)
3- The reserve food in chlorophytais ............... , however ,
reserve food in Phacophyta 18 we.seeomes mesnmes . (2.0)
4- The cell wall in bacteria is mainly composed of ............... ,
however , cell wall of fungi is mainly of ............... : (2.0)
5- yeast is classified nnder class .. oo cvsvmminmesneis but Rhizopus is
classified under class .« wmrsas e (2.0)
6- Nutrition in fungiis .................. , however, nutrition in algae
1S o (2.0)
7- Nucleus in Nostocis ............... , however, nucleus in
Gymnosperms iS.................. (2.0)

8- Bacteria that live in complete absence of Oxygen is called
.................. , however , bacteria require Oxygen to live is

BAIEE L om0 s s s . (2.0)
9- The protein coat of a virus is known as............ , However ,
Slime layer covering bacterial cell wallis called ................. (2.0)

10- Kingdom Protista include organisms that are .................
and ... (2.0)

Examiners: Prof. Abduldayem Sherief Prof. Mervat Hosny
Prof. Mohamed Ismail Dr. Abmed Abd El-Gawad




Mansoura University
Faculty of Science

\ 5 saiall dxala
Botany Department = Sl

El-Mansoura, Egypt IR a5 palall

Final Examination in Botany

Summer Course - 2013

Q2 Choose the correct answer:
1-Volvox is of ( Filamentous — colonial- Unicellular ) form . (2.0)

2- Viruses are ( Obligate autotrophic -- Obligate intracellular parasites —
Heterotrophic) . (2.0)

3- The cell wall in Diatoms is Mainly of ( Cellulose — Chitin - Pectin +
Si02). (2.0)

4- Gametangial copulation is a mode of (Sexual — Asexual — vegetative
reproduction) in some Microorganisms. (2.0)

5- Lytic cycle caused by viruses lead to ( complete lysis - Partial lysis —
non-lysis ) of bacterial cell wall. (2.0)

6- Mosses are related to(Petridophyta - Bryophyta - Dicotolydons).( 2.0)
7- Bacterial movement occur by ( Flagella — Fimberiae — Pilli ).  (2.0)

8- Isogamy means fusion of ( 2 equal - 2 un-equal — 2 dissimilar)
gametes . (2.0)

9- Sexual reproduction in Spirogyra occur by ( Fragmentation -
conjugation — Motile gametes) . (2.0)

10- Chlamydomonas is classified under ( Ascomycota- Monera —
Protista) (2.0)

Q3 Write on(with illustration as possible) :

1-Life cyle of Rhizopus . (4.0)
2-Asexual reproduction in Aspergillus. (4.0)
3-Economic Importance of cyanophyta. (4.0)
4-Mode of reproduction in Anabaena . (4.0)
5-Living and Non-living characters in Viruses. (4.0)
Examiners: Prof. Abduldayem Sherief Prof. Mervat Hosny

Prof. Mohamed Ismail Dr. Ahmed Abd El-Gawad




Mansoura University
Faculty of Science
Physics Department

\ 2 C6 S 1 A g 22 N 2 Q}H:Jlj =C ;'J},(é’;: 4 ‘

1% Level students all Programs
Full Mark: 60

Allowed time: 2 hours

Course title:

Course code: Phys 102 September semester 2013 g10 4ricity, magnetism and optics
Date: 26-8-2013
Unswer ihe following questians: | Marks
1- a- Calculate the electric field intensity at point P that is located at distance y on the 8
vertical line at the mid-point of a dipole whose length is 2a.

b- A point charge Q is placéd on the x- axis at X = 2.0 m from the origin. A second 7
point charge, —Q, is placed at x = 3.0 m. If Q =40 pnC, what is the magnitude of
the electrostatic force on a 30 pC charge placed at the origin? (K=9x10’
N.m?/C?).

2-  a- Defie the following: 8
Coulomb’s law — Gauss’s law —Electric flux — Potential difference.

b- An :nsulating sphere of radius a has a uniform charge density p and total 7
positive charge Q. Calculate the electric field intensity at a point outside the
sphere, that is for 1) a (inside the sphere) and r ( a (outside the sphere).

3- a- Define the following: 83
refractive index -Huygens’s principle- critical angle- optical path
In F:gure, let C;=6pF, C,=3uF and V,, =18 volt. Find the &~ T 7
equivalent capacitance, the charge and potential difference y Gl il
for each capacitor when the two capacitors are connected \ ﬂ ol Q‘(
1- In series ii- In parallel 3.
4- a- Discuss how the liquid refractive index is measured using Pulfrich refractometer. 8
b- A green light of wave length 546 nm traveling in air and incident on a slab of 7

transparent material. If the incident ray makes an angle 40° with the normal, and
the angle of refraction is 26°.

a) Find the index of refraction of the material.

b) Find the wavelength of light.in the material.

¢) What is the frequency in the medium?  (Velocity of light C =3x10° m/s)

Best wishes:

Du Hany Hamal
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Mansoura University Summer Exam, 2013 1" Year

Faculty of Science PhySiCS Phys 101

Time allowed: 2 h

Physics Department
. A ———————————

Answer the Following Questions .
1. (a)What is the temperature change of 25 °C in both °F and °K scale?

(b)A 50 gram of a metal is heated to 200 °C and then dropped into a @
beaker containing 400 gram of water initially at 20 °C. If the final
equilibrium temperature is 28 °C, find :

i)The specific heat of metal.

ii)The total heat transferred to the water in cooling the metal.

2 (a)Ifs m? from the sun surface radiate 3.69 x 10° J/m’sec, Calculate
the sun temperature (Stefan's constant is 5.7 x10-8 W/m?K?).
(b) A brass disk has a hole 80 mm in diameter punched in its center
at 82 °F. If the disk is placed in boiling water, what will be the new area
of the hole?
(coefficient of linear expansion a for brass = 9.75 x10° F)

3 (a) The acceleration ,a, of a particle moving with uniform speed v
in a circle of radius r is given
a=krivP

determine the values of a and .
(b)A steel wire of length 250 cm, its mass 15 gm and density
7.5 gm/ cm3. The elongation is 2mm, when 10 kgm is hung on the wire,
calculate Young's modulus.
(c) Calculate the acceleration due to gravity at a point at 300 km
from the earth’s surface (the diameter of the earth 1.275x10’m).

4. (a) At certain point in a pipeline the velocity is 1.5 m/sec and the 7.5
pressure is 2 x10 > Pa. Find the pressure at a second point in the line
4m lower than the first, if the cross section at the second point is one-
half that at the first. The liquid in the pipe is water.

b) the position of a particle moving along the x-axis is given by E
x = 0.08 sin (12t+ 0.3) m where t in second

i) find the amplitude and period of the motion

i) Determine the position, velocity and acceleration at t = 0.6 sec.
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Summer Exam (September, 2013)

First Level, Geology&Geophysics Programs
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Geol. 101

Time: 2 hours YT EPRTRri| b P

Mansoura University
Faculty of Science
Geology Department
Date: 19 /8/2013
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